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I .arge Numbers

and
Operations on them:

Lesson 1: ~ Hundred thousands

Lesson2:  Millions, Ten Millions and Hundred Millions
Lesson 3:  Milliards (Billions)

Lesson 4 Operations on Large Numbers
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(PR oLanay 4 =

(logson: 1)( Hundred Thousand )

[ )
Thousand
Hu;dreds Tens Un‘its Hundreds Tens Units
4 5 0 6 0 3
four hundred fifty thousand , = six hundred and three,
\ J

Write in words

300 000

204 550

458 201

457 123

200 100
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-Write in digits:
Two hundred thousand

Four hundred and three thousand

Seven hundred and ninety thousand

Four hundred thousand and one

Eight hundred thousand and twenty

Seven hundred two thousand and eleven

Six hundred thirty thousand and four hundred

Three hundred thousand , two hundred and eighty

Five hundred one thousand , four hundred and four

T P PP

Seven hundred eighty two thousand , two hundred and sixty nine

Write the value and the place value of the circled digit
in each of the following numbers.

numbers. the value the place value
2() 351

543 (092
156 308
@e7 900
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using the suitable sign <, > or = ineach [_].
132045 [] 93245 85679 [_] 302001
100 074 [] 74 001 321587 [] 321587

Write the greatest and the smallest numper that can be
formed from the number cards in each of the following.

greatesl Y .. ..cioiiiiiiiinini,
4115|326
SINRHESETN . .ovivivisissviicinin
Complete
a Write the greatest 6-digit.number. ... ...
b

Write the greatest number formed from 6 different digits.

Write the smallest 6-digit number. ... ...

Write the smallest number formed from 6 different digits.

Write the smallest number formed from 6.different digits
and their sumis 18, |

Write the smallest number formed from 6 dlfferent digits
and their sumyis 17. "0 Lo,

Write the greatest number formed from 6 different digits
and the sum of its units and tens digits is 7.
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(logson:2)(  Millions

N
Million Thousand
—— —h—
Hundreds Tens Units Hundreds Tens Units Hundreds Tens Units
5 2 3 4 5 0 6 0 3
five hundred twenty three million ,
four hundred fifty thousand ,
six hundred and three. P
Write in words
1 000 000
145 000 000
2 800 111
4 204 550
10 245 120
200 457 123
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-Write in digits:
Two million
Five million and nine hundred thousand
Eight million and Nine hundred six thousand
Two million and three hundred forty six thousand
Ten million,one thousand , six hundred and two
Twenty five million , seven hundred nine thousand
and eleven
Thirty seven million , six hundred thirty thousand
and four hundred

Forty nine million, two hundred twenty five
thousand, nine hundred and three

Two hundred thirty two million , five hundred one
thousand , six hundred and thirty four

Complete as the example
Example: /7 435218 = 7 million + 435 thousand i+ 218

a 24053% =.".. million + ......... thousand'# .........
b 22 153 02 =" .. % million + ......... thousand *+ .........
c 288 300 597=,....0.. million + ......... thousand + .........
(- [ I 12 6 million + 412 thousand + 576

9 million + 18 thousand # 72
(R /' . 44million=+ 4 thousand + 4

®
n .u 1

Complete asithe example.
“Example: 981280 156 = 156 + 230 000 +98 000 000

a'352'936 147 = 147 + vt i IR RS

b 23600156=............... T R
c 803651028=.............. B sy B s
d 10800900=............... L T RO —— T TTR——
e 6000834=.......... T TORERON . SERRROR PR
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(logson: 3)(  Milliards(Billions) )

\
Milliard Million Thousand
Hundreds Tens Units MHundreds  Tens Dnm Mundreds  Tenz  Units Hundreds Tens  Units
3 2 0 5 a3 4 ~5F 0 6 0 3

three hundred twenty milliard, five hundred twenty three million
K four hundred fifty thousand , six hundred and three.

/

Write in words
1 000 000 000

3 400 000 000
4 145 000 000

4 204 550 002

12 701 405 540

-Write in digits:

Two milliard

Five milliard and nine million
Eight milliard ", five million, six thousand and two hundred

Thirty milliard , ninety million , fifty thousand and forty

Sixteen milliard , Two hundred fifty million,
three hundred forty six thousand and twenty
Four milliard , three hundred sixteen thousand
two hundred and one
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Read the following numbers, then complete,

a 8719645302 ... milliard, ...... million, ...... thousand and ......
b 6539006475 ... milliard, ...... million, ...... thousand and ......
c 2163900 800 ... milliard, ...... million, ...... thousand and ......
d 5180070506 ...... milliard, ...... million, ...... thousand and ......

Write the greatest and the smallest number formed from the
digits 7,4 ,0,5,3,8,9 and 6.

The smallest number is ................

The greatest number is ...

Write the greatest and the smallest 7-digit number formed from the
digits 3, 1,8 and 9.

The smallest number is ...

The greatest number is ... ..

Write the greatest and the smallest 8-digit number formed
from the digits 2 and 4 .

The smallest number is ................

The greatest number is ...

Find:
two 10-digit numbers with the different between them is one
milliard . - s, W T R SO

two 10-digit numbers with the different between them is one
million . gl g one e nrassesses, NG, oo . o e v s o

two 10-digit numbers with the different between them is one
thousand . PRURRIISONEATO ORI | [P Na ROEAB I LT
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(Loggon : 4)( Operation on large Numbers )

Addilion & Sublraclion

Add:
5378558 4560072
+8201872 + 4712788
4 858443 + 451336 = .. .ciciuininn
99 999999 & L= ... .4k,
Subtract:
9370008 5307389
-8700277 - 890708

4/058 448 + 891836 = ..o
1 V00000 UREIRERE = .....ococenins fosussiosisnenss

Ramy bought a house for LE 85 750 and a car for LE 65250
How much money did he pay ?

Ahmed had LE 855 000 . He bought a car for LE 70 500
find the remaining money with him.
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Samy had LE 850 000 . He bought a house for
LE 280 000 and a car for LE 45 000 .
find the remaining money.

The population of Egypt in 1995 was about 65 520 000
, where as it was 71 335 000 in 1999,
Find the difference between the two numbers.

In the previous year 1 356 009 tourists visited Egypt and
in this year , 2 567 001 tourists ,
Find the total number of tourists in those two years .

A merchant bought 1 356 789 pens .He sold 989 686 pens
of them .Find the remainder of the pens .

Find the product:-
23 743 72 B 3547
XS X 4 X 5 X 4
234 X 4 = ... 481 X i

Mr. Mohamed Nasr 012 10901817- 010042 01098 <



[ MATHS KR 8 =
Multiply
Multiply
5 3 3 6 456 604
X1 2 p, G X 2.3 X 4 3
* + R ST *
2503 1308 84225 22651
X 24 X 65 X )35 X 25
+ + v +

1) January has 31 days .
How many hours are there in this month .

2 ) A theatre has 45 rows each consists of 39 seats.
How many seats are there in the theatre ?
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3 ) Samy traveled at a speed of 45 metres per minute ,

ridinghis bicycle .
What the distance he travels in a quarter of an hour ?
A quarter of an hour = ... minutes

4 ) Fady bought 15 kilograms of apples for PT 825 each .
Find the total price of the apples .

6 ) Find the product of 42 X 12 = ..o
Then deduce the result-of the following.
420 X 12 = e

42 X 120 .\......
420 X120 = ...
4200 X 12 =75
42 X 1200
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Dividing by a 1-digit number
Find the quotient of the following : (8 34 + 3)

2 8
834+3=278 m

\ - 6

—

13 2 3

= 2 1

& 2 4
2 4
0 0

Divide

....................................

....................................

..................

....................................

....................................
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Divide

56 672 3[&7

............

s[6401-"6[s22 3774
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5|4 4 4 5 49 724 |s|6 04 s
* If 332X 7 = 2324 then 2324 7 T E—
2324 332 =

* Complete :

445 + o= =. 5 455 > ol N

o
"

552 4 123

* A hotel has 176 rooms divided equally among
8 floors .
How many rooms are there in each floor ?
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I Dividing by a 2-digit number

Find the quotient of the following : (585 +45)

0 1 3
585+45=13 W
4 5
5 £ 1 3
'S § 1 3 8
o & 0 00

Divide

- =
---------------

---------------

........

........................
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Divide :
32|8 00 42'; 66 21'903

------------------

..................

63|7749 72|10224 33'5724

..................
..................
..................
....................................

..................................................

24|5616 37I15244 64|20736
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. Find the result for each of the following.

c 3478x9=.......

d 721014+ 7= .....L.,
e 267x18=.........

f 62850+25=....™

@ complete. | :
a Write the value of the underlined digit in each of the

following numbers.
3256 812 159 * , 958 214 100 . 74 10,0279‘312

b Write the numbers of a in letters.

3 256 812 159 .............................................................................

..............................................................................

..............................................................................

958 214 100 .............................................................................

-----------------------------------------------------------------------------

IR0  DZOIRHD i iiisoicmiieiniomsmsins oSt i

.............................................................................

.............................................................................
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‘ Choose the number closest to the correct answer.
a 997815100+ 1475987 = ...............
(999 million , milliard , 990 million)

b 3259 145 000 -3 059 142 000 = ...............
(3000 , 100 million , 200 million)

C 8x6958x125™= .. 1J.......,
(7 million , 6 million ; 5 million)

d (4000+4)x999=.............
(one million , ene milliard, 900 thousand)

@ = 1 756 pupils in a school are distributed equally among 18
classes, find the number of pupils in each class.

........................................................................................

........................................................................................

115686,

........................................................................................
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Geometry

Lesson 1:  Relation between Two Straight
Lines and Geometric Constructions

Lesson 2:  Polygons

Lesson 3:  The Triangle

Lesson 4 The Circle

Lesson 5:  Applications
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Parallel, intersecting and
Perpendicular (orthogonal) lines

1) The two ndicular (orthogonal ) lines : 1‘D
- they form four right angles at

fh._flr p.gion? of ‘lﬂersccﬂon ¢ | 1>
- ABLCD orCDLAB 4 8
AB is perpendicular to CD ¢

-
v

1) The two intersecting lines :
~They form four angles
(Acute or obtuse not right)
- They intersecting at one point
AB and Zp are infersecting at point M

- T‘_Olfy never intersect at any points
- AB // CD or.CD// AB

L "
- AB is parallel to ¢p

[ 24
B
M
A D
1) The two parallel lines : «C\*}\»
N
B

1) ABCD is a rectangle and AC , BD are two diagonals
Complete with ( Parallel , intersecting or Perpendicular )

AC and BD @re ... @t M A B
AB and DC Qre ....h...iuoin.

AB and AC Gre ... QF
BC and BD BB omciionimmner QTS

AD GNd BC Qe ..ot M
BE and BA GRS wiiiiisisimisins
BC and €D QP& oo e

D c
—_—e—
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Notice the figure opposite, then complete. A

a AB..... BC (Lor/)

b AB......... YZ (Lorll)

[N ¢, (PR BC (Lor/)

d AY intersects with BZ at the point »
e YC intersects with BX at the point |

--------- B z C
Complete using ( // , L or intersecting ) A

- - gyt -

AR o cD - R cD

- - - - -

AD .... BC AE N AB

D E ¢

Choose the correct@nswer between brackets :

uAny' two lines that never intersect are called «.........
- (orthogonal. or parallel. or intarsecting and not orthogonal. )

Any two lines that intersect at a point and make four right angles are
called ...oo..s

( parallel. or Intersecting and not orthogonal. or perpendicular. )

. The two intersecting lines intersect at ...
(one point. or two points. or zero points. )

The two parallel lines intersect at ...........
(two points. or zero points. or one point. )

'Thetwoparallel lines make .. angles. (1 or 3 or 0)

_—
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Draw a perpendicular and a parallel

-

Draw CD | AB in the following :

G
< +—> <+ + +—>
B A c B
(+
B
B
c
A
A
\ €
A A
c
B B
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Draw CD // AB in the following :
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G Polygons

4 N
Side Vertex
\ a polygon not a polygon )

The Polygon is a closed shape formed from three line segments or more

A O 2

Triangle Quadrilateral Pentagon
Hexagon Heptagon Octagon

The number of sides of any polygon is equal
the number of its vertices and equal to the number of its angles

Parallelogram Rectangle || Rhombus || Square || Trapezium

7SI N
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Join each figure to the suitable name.

z [1.O O

[Rectangle |[ Trapezium || Triangla |[ Rhombus || Square || Parallelogram |

Put (v’) for the correct statement and (X)for the incorrect one and correct the mistake.

a The parallelogram is a quadrilateral in which each two opposite

sides are parallel, . ()
b The rectangle is a quadrilateral in which each of its four
angles is a right angle. ()
¢ The rhombus is a quadrilateral in which all sides are equal
in length. ¢ 3
d The measure of each angle ofthe.square =45, ( )
e Any angle of the four angles formed from the intersection of
two straight linés is a right angle. ( )
f Any angle of the four angles formed from the intersection of
two perpendicular straight lines is a right angle. ()
g Two parallel straight lines are two non-intersecting straight
lines. ' ( )
h Two perpendicular straight lines on the same straight linés
are intersecting straight lines. ¢ i
i The diagonals.of any square are perpendicular. ¢ )
Complete :
n The polygon which has four sides is called a ...
The hexagon s a polygon With ... sides » but the i is a polygon
with three sides.
In the square , all angles are -......... angle.
nmq two diagonals of the rectangle are v @R o,
n In the parallelogram , every two opposite sides are ...
B0 ooy
n Each two opposite sides are parallel in ... y s ——————— ’
............................ and i
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. Each two opposite sides are equal inlength in ... e R PR
.............................. 1,7 | S

m The four sides are equal in length in- ... 14T [N AR A,

- The four angles are right in e aNd

n The diagonals in .. AN are equal in length

and bisect each other.,

Write only one difference between each of the following :
The square and the rectangle.

..................................................................................................................................

......................................................................................................

..................................................................................................................................

3¢cm

I—---‘—
2 3 5

Draw the rectangle ABCD inwhich AB = 5¢m and BC =4 cm.

4em

sem

—— S ——
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